



































29. (a) Write down the identities of calculating GDP of an economy using three
methods. (Scores : 3)

{b) There are only 2 producing units, ‘A and B in the economy. Caleulate :

(i) GVA,,,of firn A (Scores : 2)

(i) GVA,,of firm B. - (Scores : 2)
(c) Calculate GDP,,p,. (Score: 1)

Items Amount (¥ in Crores)

(i) Salesby firm A ' 10,000

(il) Salesby firm B 20,000

(iii) Change in stock of firm B 2,000

{iv) Change in stock of firm A 500

{v) Purchase of raw materials by firm A 5,000

{(vi) Purchase of raw materials by firm B . 6,000

(vii) Consumption of fixed capital by firm A & B 1,800

30. (a) Mr. Roy wants to buy rice and milk with the money income of ¥ 200. Its market

prices are ¥ 10 and ¥ 5 respectively.

(i) Derive the budget line equation.

(ii) Find the slope of the budget line.

(iii) Find out horizontal and vertical intercept.

{b) Explain the optimum level of the consumer (Consumer's Equilibrium) with

suitable diagram.
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